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Quiz 3                                                                                                                        Sec: 01
Name:                                                                        ID#:                                          S. No.
1. To become an actuary, it is necessary to pass a series of 10 exams, including the most important one, an exam in probability and statistics. An insurance company wants to estimate the mean score on this exam for actuarial students who have enrolled in a special study program. They take a sample of 10 actuarial students in this program and determine that their scores are: 14, 15, 10, 8, 9, 12, 11, 15, 13 and 10. This sample will be used to calculate a 84% confidence interval for the mean score for actuarial students in the special study program.

a. What is the critical value used in constructing a 84% confidence interval.
b. What is the standard deviation of the data?
c. What is the standard error of the estimate?
d. What is the margin of error?
e. What is lower limit of the interval?
f. What is the range of the interval?
2. A survey was done with the hope of comparing salaries of chemical plant managers employed in two areas of the country, the Eastern and Central regions. Independent random samples of 15 plant managers were selected for Eastern region and 20 for Central region. Theses managers were asked for their monthly salaries. The results are:

	Eastern
	Central

	mean = 10,500
	mean = 10,300

	standard deviation = 600
	standard deviation = 450


a. Construct a 91% confidence interval for the difference in the mean salaries.
b. What assumption did you make in (a) about the distribution of monthly salaries for the two regions?

